F FERROFORCIA MSB-004

THANK YOU
Thank you for purchasing our FerroForcia parts!
PACKAGE CONTENT
Part number Quantity Description
MSB-004 1 8x M8x40 allen screw
16x M8x55 allen screw
4x M8x80 allen screw
4x M8x90 allen screw
16x M8 self-locking nuts
16x M8 revets @18
INFORMATION

For more information regarding this FerroForcia part you can
check our website www.ferroforcia.com/product/msb-004/

MOUNTING INSTRUCTION

You can use this bolt set to mount our FerroForcia side door
hinges (HS54-001 / HSS4-001-U).

BB O FerroForcia @ www.ferroforcia.com


http://www.ferroforcia.com/product/msb-004/

